Math 35- Test Bank Answers

	1.    (45(
2.    18,000,000,045,612
3.    139

4.     (37

5.    (28

6.     (18

7.     (2

8.    566

9.    Undefined

10.   50

11.   $104

12.   $2,854

13.   45 stamps

14.   18 ft

15.   ($120

16.   
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17.   1,2,4,5,8,10,16,20,40,80
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23.   8
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39.   5 shelves

40.   1,560 pieces

41.   $500

42. $600

43.   (1.36
	44.   4.01

45.   a)  3.65 x 1013
       b)  3.45 x 10(12
46.   B = 37.5

47.   P = 50%

48.   A = 16

49.   A = 68.25

50.   $310.60

51.   Tax = $1,983.75;

        Total = $28, 433.75

52.   $32,500

53.   $24,910

54.   $89.93

55.   $231.80

56.   20%

57.  $40.95

58.   912
59.   
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60.   255
61.   74
62.   518
63.   65

64.   
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65.   24
66.   22


Cont. Math 35 test bank answers

	67.   (72

68.   6

69.   10

70.   134

71.   (2

72.   (90

73.   88

74.   59(
75.   (2 is the coeff.;

         4 is the degree

76.   Terms: 
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        3 is the degree
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89.    x = 4

90.    x = (32

91.    x = (6

92.    x = (9

93.    x = 5

94.    x = 3
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99.    500 mph

100.   1
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101.    a)   P = 108 ft    b)   72 yd2    c)   $2,688

102.    105.6 ft per sec.

103.    12 ft

104.    
[image: image42.wmf]t

f

41

3



105.   
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